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SECTION A

This section comprises of Multiple-choice questions (MCQ) of 1 mark each.)

1. Given that sin 0 = ab, then cos 0 is

2 2
b (b) b/a b*-a ¢

(@ b* - © b (d)Vb* - a*

(sec A +tan A) (1 —sin A) is equal to

o

(a) sec A (b) sin A (c) cosec A (d) cos A
3. If sin(A -B) =sin A cos B — cos Asin B, then the value of sin 15° is
\J3-1 \J2-1 \J3-1 1-4/3
@ 2 (b) 2v2 (© V2 @ 2

4. sin45° i tan 45° . Sec 60° 5sin 90°
sec45® cosec 30° cotd5® 2cos0°
(a) 3/2\2 (b) 0 (©) 1242 (d) 172

The value of cos?0 + 11+cot?0 is
()0 (b) 1 (c) -1 (d) None of these

4l

N

cos* x — sin? x is equal to

(a) 2 sin’x — 1 (b) 1 — 2 cos’x (c) sin’x — cos’x (d) 2 cos’x — 1

/. Given that, sin a = 12 and cos § = 12, then the value of o + 3 is

(a) 60° (b) 30° (©) 0° (d) 90°
5. c0s36 - 2cos46
If 0 = 15°, then Sin36 + 2c0546 is equal to
(a) 12 (b) 1+2/1-2 () 244222 (d) 1-V2/1+2

). In aright angled AABC, right angled at C, if tan A = 1, then the value of 2 sin A cos A, is
(a) 0 (b) 1 ()2 (d) 172

10 If tan®45° — c0s?30° = x sin 45°cos 45°, then the value of x is




(a) %2 (b) 1 (©)2 (d) 173

SECTION B
This section comprises of very short answer type-questions (VSA) of 2 marks each)
Il Iftan(A + B) =3 and tan(A — B) = 1/\3; 0°< A + B < 90°; A > B, find A and B.

12 Find the value of x 2 cosec?30° + x sin?60° — tan?30° = 10

13 b

2 2
Ifcos@=+a +Db , 0<0<90°, find the value of sin 6 and tan 0.
SECTION C

(This section comprises of short answer type questions (SA) of 3 marks each)

14 If 1+ sin”0 = 3 sin 0 cos 0, then prove that tan 6 = 1 or '%.

15 (2 + 2sinB)(1 - sin0)
If tan 6 = 7/13, then find the value of (14 cos8)(2 - 2cosb).
16 Prove that 1/2 =1 + sec 0 cosec 6.

SECTION D

This section comprises of long answer-type questions (LA) of 5 marks each)
17 cosA -sinA +1

Prove that COSA + sind =1 = ¢osec A + cot A

Using the identity cosec? A — cot? A =1.

18 Evaluate sin?63o+sin?270—2¢0s2170+cos2730+1.

19 If sec 6 = x + 14x, then prove that sec 6 + tan 6 = 2 x or 1/2x.




